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It was not taught, etc. - VAT DA 11557 DODNNR TIRRY KON W KD
only when they said, ‘we were forced by monetary means’.

OVERVIEW

The X950 of our mwn states that if IR D1PMPN KX 07> 2N and the VW 7Y testify
that they were 0°01K or 2°1vp or M7y 705 they are not believed. Initially it was
understood that 11"'27 qualified the &9°0 of the mawn. They are not believed to claim
N noann o0k (for they are forbidden to sign under monetary coercion).
However they are believed to claim nwa1 nnnn 201X (since they are permitted to
sign in order to save their lives).
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They are not believed to claim we were coerced to sign the 0% on account of

monetary coercion because they cannot make themselves wicked people. It is
forbidden to cause someone a loss (even) if threatened that non compliance will cause you a
loss of money. If they claim that it was a monetary coercion, then they are admitting to
transgressing a prohibition and making themselves 0°¥w7. A person is not believed to testify
about himself neither for his benefit or his detriment.

mMdOIN continues to explain why they are not believed in the other two cases: >
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And they are not believed if they claim we were 211 as 2''2w" stated that there is a
7P that only 2°9173 sign on a 0w —
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And they are not believed to claim that we were M7y 102 because the mo»
himself is very exacting to choose only 2°7w> 0°7¥ as the X713 will shortly state.

SUMMARY

According to the X" if X DPRn XX "N the 07y are not believed to claim
TR NN 001X because DOYVWI ITOWHI MW RYT, 0°WP on account of 92w, or
N7V 97100 since P77 P71 D1 M.

" See 9% "7 "0,
2 mooin is seemingly bothered if we maintain that by mws1 nan» 2°01x they are believed (for they are not “wn
°ywn wal), then why should they not be believed by N7y *21091 0°1vp; in these cases they are also not "wn
2°yw7 W wol. See footnote # 4.
3R"Y w0 AT
* 19103 3,m" q7. See footnote # 2. MoOIN answer is that by mMwo1 nnnx 0°01K there is no AP that contradicts them;
however by 0°011X1 2°1vp there is a 7ipin that contradicts them. See: ‘Thinking it over’.
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THINKING IT OVER

If the 0>1v claim mMws1 namn D0NR they are believed;’ even though they are
(seemingly) contradicting the q0waw m7v. Why then should they not be believed
to claim 2°1vp or M7y *2109 when they are merely contradicting a 171 ?!

3 See footnote # 4.
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